[(FM5F 1N A48 () YRR FHiE)

(1) 70— bOERFER (OIZE28 14)

OS5 EIDHEERRIIE S 25 7=h QRAETH-=6 (TXES) Wk EHZ

—FEEATDE S
1

EB5TH
2N .
1% T= s ]
5 (T%) DR

R

EbohEVZIEER 8A (11%)

17X (61%)

N=28 N=76 (*ﬁﬁ@%)

(2) HHFEDERE
ﬁ[‘ﬁl:fﬂbct D 7&’&.4 RNV FEXR>TWSEDTSEILL T,

C EARBIENHEDDMNEELUAIIKTHDEDT, FILLWEEEZRRTLHILNTXE

TEUM> 7,
BN T = —r7 v MOEERRENSERIZADLUEWVE WS IR - /-,

(3) HIEEDERER
ENGCIKHBHEEDAEA2MEEE LTI NZONE TEELN- 7,

=1
HE 7 — A% S HIEFRIEZE L SSIITE, FHRET TR, RABELDLZE

Rz > T T ED o 7,




